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QUESTION 1

Which two backup configurations are set by default when you choose Cloud Storage Only as the backup destination?
(Choose two.)

A. encryption of backups only for Enterprise Edition databases

B. automatic daily full database backups

C. RMAN incremental backups in a seven-day cycle

D. encryption of backups only for High Performance and Extreme Performance database versions
E. on-demand backups that need to be scheduled

F. encryption for all backups

Correct Answer: CD

QUESTION 2

In a database, the default temporary tablespace is TEMP and USER1\\'s default tablespace is DATA. Examine these
parameters:

NAME TYPE VALUZ
TEMP_UNDO_ENABLED boolean TRUE
UNDO_MANAGEMENT string AUTO
UNDO_RETENTION integer 900
UNDO_TABLESPACE string UNDOTBS1

Which tablespace stores UNDO generated by USER1\\'s DML on temporary tables?
A. DATA

B. SYSTEM

C. SYSAUX

D. TEMP

E. UNDOTBS1

Correct Answer: D
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QUESTION 3
DATADIR1 and DATADIR?2 are database directory objects.

Examine this command: Which two are true about the expdp operation? (Choose two.)

[oracle@host0l ~] expdp system/oracle \

FULI=y \

DUMPFILE=datadirl:full%U.dmp, datadir2: full2%U.dmp \
FILESIZE=2G \

PARALIFIL=4 \

LOGFILE=datadirl:/expfull.log

JOB NAME=exzpfull

Vow v Y N W

A. It creates a dump file for the entire database.

B. It fails if the total size of the dump file is more than 2 GB.

C. It creates a dump file only for objects in the SYSTEM schema.
D. It creates a master table to store details of the export operation.
E. It starts only when four worker processes are available.

Correct Answer: AE

Reference:
https://docs.oracle.com/database/121/SUTIL/GUID-1E134053-692A-4386-BB77153CB4A6071A.htm#SUTIL887

QUESTION 4

Which two types of files are opened by a database instance in the NOMOUNT state?
A. control files

B. the alert log

C. the initialization parameter file

D. data files

E. online redo logs

Correct Answer: CD

Reference: http://www.dba-oracle.com/concepts/starting_database.htm

QUESTION 5

170-072 VCE Dumps | 1Z0-072 Practice Test | 120-072 Study Guide 3/4


https://www.passapply.com/1z0-072.html
https://www.passapply.com/1z0-072.html
https://www.passapply.com/1z0-072.html

VCE & PDF https://www.passapply.com/1z0-072.html
2024 Latest passapply 120-072 PDF and VCE dumps Download
PassApply.com

orcl.dmp contains a full export of the ORCL database.

This command is executed to load data from orcl.dmp into the TESTDB database:

[oraclelfhost0l ~] impdp system/oracle \
SCHEMAS=sh, oe \

REMAFP SCHEMA=sh:hr \
ULIMPE‘ELE=orcl.dmp %

EXCLUDE=index \

TABLE EXT STS_HCTIDII:rEplaCE %
LOGFILE=impdp.log

WoOou OV W Yoy

Which two are true? (Choose two.)

A. It skips only tables that exist in both ORCL:SH and TESTDB:HR.

B. It drops and recreates tables that exist in both ORCL:SH and TESTDB:HR.
C. It skips all indexes of ORCL:SH and ORCL:OE.

D. It skips only indexes that exist in both ORCL:SH and TESTDB:HR.

E. It drops and re-creates indexes that exist in both ORCL:SH and TESTDB:HR.

Correct Answer: DE
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